# Non-homogeneous time fractional heat equation 

A. Aghili<br>Department of Applied Mathematics, Faculty of Mathematical Sciences, University of Guilan, Rasht - Iran

Received: 31 Aug 2017, Accepted: 20 Sep 2017
Published online: 31 Jan 2018


#### Abstract

In this article, the author considered certain non-homogeneous time fractional heat equation which is a generalization of the problem of a viscous ring damper for a freely processing satellite. Transform method is a powerful tool for solving partial fractional differential equations. The result reveals that the transform method is very convenient and effective.


Keywords: Caputo fractional derivative, Non-homogeneous time fractional heat equation, Laplace transform, Fourier transform.

## 1 Introduction

Fractional differential equations arise in the unification of diffusion and wave propagation phenomenon. The time fractional heat equation, which is a mathematical model of a wide range of important physical phenomena, is a partial differential equation obtained from the classical heat equation by replacing the first time derivative of a fractional derivative of order. In recent years, it has turned out that many phenomena in fluid mechanics, physics, biology, engineering and other areas of the sciences can be successfully modeled by the use of fractional derivatives. That is because of the fact that, a realistic modeling of a physical phenomenon having dependence not only at the time instant, but also the previous time history can be successfully achieved by using fractional calculus. In this work, we consider methods and results for the partial fractional diffusion equations which arise in applications. Several methods have been introduced to solve fractional differential equations, the popular Laplace transform method, [1,2,3]. Atanackovic and Stankovic [4,5] and Stankovic [13] used the Laplace transform in a certain space of distributions to solve a system of partial differential equations with fractional derivatives, and indicated that such a system may serve as a certain model for a visco-elastic rod. Wyss [15] and Schneider [12] considered the time fractional diffusion and wave equations and obtained the solution in terms of Fox functions. In recent years, the implementations of extended G/G- method for the solutions of nonlinear evolution equations, nonlinear Klein - Gordon equations, Boussinesq equations have been well-established by researchers [14].

### 1.1 Definitions And Notations

Definition 1. The left Caputo fractional derivative of order $\alpha(0<\alpha<1)$ of $\phi(t)$ is as follows [8]

$$
\begin{equation*}
D_{a}^{c, \alpha} \phi(t)=\frac{1}{\Gamma(1-\alpha)} \int_{a}^{t} \frac{1}{(t-\xi)^{\alpha}} \phi^{\prime}(\xi) d \xi . \tag{1}
\end{equation*}
$$

[^0]Definition 2. The Laplace transform of function $f(t)$ is defined as follows

$$
\begin{equation*}
\mathscr{L}\{f(t)\}=\int_{0}^{\infty} e^{-s t} f(t) d t=F(s) \tag{2}
\end{equation*}
$$

If $\mathscr{L}\{f(t)\}=F(s)$, then $\mathscr{L}^{-1}\{F(s)\}$ is given by

$$
\begin{equation*}
f(t)=\frac{1}{2 \pi i} \int_{c-i \infty}^{c+i \infty} e^{s t} F(s) d s \tag{3}
\end{equation*}
$$

where $F(s)$ is analytic in the region $\mathrm{R} e(s)>c$. The above integral is known as Bromwich complex inversion formula
Lemma 1. Let $\mathscr{L}\{f(t)\}=F(s)$ then, the following identities hold true.

$$
\begin{aligned}
& \text { 1. } \mathscr{L}^{-1}\left(e^{-k \sqrt{s}}\right)=\frac{k}{(2 \sqrt{\pi})} \int_{0}^{\infty} e^{-t \xi-\frac{k^{2}}{4 \xi}} d \xi \\
& \text { 2. } e^{-\omega s^{\beta}}=\frac{1}{\pi} \int_{0}^{\infty} e^{-r^{\beta}(\omega \cos \beta \pi)} \sin \left(\omega r^{\beta} \sin \beta \pi\right)\left(\int_{0}^{\infty} e^{-s \tau-r \tau} d \tau\right) d r \\
& \text { 3. } \mathscr{L}^{-1}\left(F\left(s^{\alpha}\right)\right)=\frac{1}{\pi} \int_{0}^{\infty} f(u) \int_{0}^{\infty} e^{-t r-u r^{\alpha} \cos \alpha \pi} \sin \left(u r^{\alpha} \sin \alpha \pi\right) d r d u \text {, } \\
& \text { 4. } \mathscr{L}^{-1}\left(F(\sqrt{s})=\frac{1}{2 t \sqrt{\pi t}} \int_{0}^{\infty} u e^{-\frac{u^{2}}{4 t}} f(u) d u .\right.
\end{aligned}
$$

Proof. [1,2]
Example 1. By using an appropriate integral representation for the modified Bessel's functions of the second kind of order $v, K_{v}(s)$, show that

$$
\begin{equation*}
\mathscr{L}^{-1}\left\{\frac{K_{\eta}(a \sqrt{s-\mu})}{(s-\mu)^{\frac{\eta}{2}}} \frac{K_{v}(b \sqrt{s+\beta})}{(s+\beta)^{\frac{v}{2}}}\right\}=e^{(\mu-\beta) t} \int_{0}^{t} \frac{\tau^{\eta-1} e^{\mu \tau-\frac{a^{2}}{4 \tau}}}{(2 a)^{1+\eta}} \frac{(t-\tau)^{v-1} e^{-\beta(t-\tau)-\frac{b^{2}}{4(t-\tau)}}}{(2 b)^{1+v}} d \tau \tag{4}
\end{equation*}
$$

Solution 1. It is well known that $K_{v}(a \sqrt{s})$ has the following integral representation [6]

$$
\begin{equation*}
K_{V}(a \sqrt{s})=\frac{(a \sqrt{s})^{v}}{2^{v+1}} \int_{0}^{\infty} e^{-\xi-\frac{a^{2} s}{4 \xi}} \frac{d \xi}{\xi^{v+1}} \tag{5}
\end{equation*}
$$

At this stage, using complex inversion formula for the Laplace transforms and the above integral representation we get

$$
\begin{equation*}
\mathscr{L}^{-1}\left\{\frac{K_{\eta}(a \sqrt{s})}{s^{\frac{\eta}{2}}}\right\}=\frac{1}{2 i \pi} \int_{c-i \infty}^{c+i \infty} \frac{1}{s^{\eta}}\left(\frac{(a \sqrt{s})^{0.5 \eta}}{2^{\eta+1}} \int_{0}^{\infty} e^{-\xi-\frac{a^{2} s}{4 \xi}} \frac{d \xi}{\xi \eta+1}\right) d s . \tag{6}
\end{equation*}
$$

Changing the order of integration and simplifying to obtain

$$
\begin{equation*}
\mathscr{L}^{-1}\left\{\frac{K_{\eta}(a \sqrt{s})}{s^{\frac{\eta}{2}}}\right\}=a^{\eta} \int_{0}^{\infty} \frac{e^{-\xi}}{\xi \eta+1}\left(\frac{1}{2 i \pi} \int_{c-i \infty}^{c+i \infty} \frac{e^{t s-\frac{a^{2} s}{4 \xi}}}{2^{\eta+1}} d s\right) d \xi \tag{7}
\end{equation*}
$$

The value of the inner integral is $\delta\left(t-\frac{a^{2}}{4 \xi}\right)$, we have the following

$$
\begin{equation*}
\mathscr{L}^{-1}\left\{\frac{K_{\eta}(a \sqrt{s})}{s^{\frac{\eta}{2}}}\right\}=a^{\eta} \int_{0}^{\infty} \frac{e^{-\xi}}{\xi \eta+1} \delta\left(t-\frac{a^{2}}{4 \xi}\right) d \xi \tag{8}
\end{equation*}
$$

making a change of variable $\left(t-\frac{a^{2}}{4 \xi}\right)=u$ and using elementary properties of Dirac - delta function, we arrive at

$$
\begin{equation*}
\mathscr{L}^{-1}\left\{\frac{K_{\eta}(a \sqrt{s})}{s^{\frac{\eta}{2}}}\right\}=\frac{t^{\eta-1} e^{-\frac{a^{2}}{4 t}}}{(2 a)^{\eta+1}} . \tag{9}
\end{equation*}
$$

Finally, using the shift and convolution theorem we obtain

$$
\begin{equation*}
\mathscr{L}^{-1}\left\{\frac{K_{\eta}(a \sqrt{s-\mu})}{(s-\mu)^{\frac{\eta}{2}}} \frac{K_{v}(b \sqrt{s+\beta})}{(s+\beta)^{\frac{v}{2}}}\right\}=e^{(\mu-\beta) t} \int_{0}^{t} \frac{\tau^{\eta-1} e^{\mu \tau-\frac{a^{2}}{4 \tau}}}{(2 a)^{1+\eta}} \frac{(t-\tau)^{v-1} e^{-\beta(t-\tau)-\frac{b^{2}}{4(t-\tau)}}}{(2 b)^{1+v}} d \tau . \tag{10}
\end{equation*}
$$

Definition 3. The The Laplace transform of Caputo fractional derivatives of order non integer. For $n-1<\alpha \leq n$, we have the following identity [15]

$$
\begin{equation*}
L\left\{{ }_{0}^{C} D_{t}^{\alpha} f(t)\right\}=s^{\alpha} F(s)-\sum_{k=0}^{n-1} s^{\alpha-k-1} f^{(k)}(0) . \tag{11}
\end{equation*}
$$

Definition 4. The The two-parameter function of the Mittag-Leffler type is defined by the series expansion

$$
\begin{equation*}
E_{\alpha, \beta}(z)=\sum_{n=0}^{\infty} \frac{z^{n}}{\Gamma(\alpha n+\beta)}, \tag{12}
\end{equation*}
$$

when $\alpha, \beta, z \in C$. We have the following relationship

$$
\begin{equation*}
L\left\{t^{\beta-1} E_{\alpha, \beta}\left( \pm a t^{\alpha}\right)\right\}=\frac{s^{\alpha-\beta}}{s^{\alpha} \mp a}\left(\operatorname{Re}(s)>|a|^{\frac{1}{\alpha}} .\right. \tag{13}
\end{equation*}
$$

Definition 5. The simplest Wright function is given by the series

$$
\begin{equation*}
W(\alpha, \beta ; z)=\sum_{n=0}^{\infty} \frac{z^{n}}{n!\Gamma(\alpha n+\beta)}, \tag{14}
\end{equation*}
$$

when $\alpha, \beta, z \in C$. We have the following relationship

$$
\begin{equation*}
\left[L\left\{t^{\beta-1} E_{\alpha, \beta}\left( \pm a t^{\alpha}\right)\right\}=\frac{s^{\alpha-\beta}}{s^{\alpha} \mp a}\left(\operatorname{Re}(s)>|a|^{\frac{1}{\alpha}}\right) .\right. \tag{15}
\end{equation*}
$$

Lemma 2. The following identities hold true for $0<v<1$.

$$
\begin{aligned}
g(t) & =\mathscr{L}^{-1}\left(\int_{0}^{a} \frac{e^{-\left(1+\frac{k}{s^{v}+k}\right) \eta}}{s^{v}+k} d \eta\right)=. . \\
& \left.=e^{-k t} \int_{0}^{\infty} \int_{0}^{a} e^{-u} J_{0}(2 \sqrt{k t u})\left(\int_{0}^{\infty} e^{-t r-\eta r^{v} \cos \pi v} \sin \left(\eta r^{v} \sin \pi v\right) d r\right) d u\right) d \eta .
\end{aligned}
$$

Proof. Let us assume that $F(s)=\int_{0}^{a} \frac{e^{-\left(1+\frac{k}{s+k}\right) \eta}}{s+k} d \eta$
by complex inversion formula for the Laplace transforms, we have

$$
f(t)=\frac{1}{2 \pi i} \int_{c-i \infty}^{c+i \infty} e^{t s}\left(\int_{0}^{a} \frac{e^{-\left(1+\frac{k}{s+k}\right) \eta}}{s+k} d \eta\right) d s
$$

changing the order of integration which is permissible by Fubini's theorem, leads to

$$
f(t)=\int_{0}^{a} e^{-\eta}\left(\frac{1}{2 \pi i} \int_{c-i \infty}^{c+i \infty} \frac{e^{t s-\frac{k \eta}{s+k}}}{s+k} d s\right) d \eta
$$

in the inner integral by making change of variable $s+k=\xi$, we obtain

$$
f(t)=e^{-k t} \int_{0}^{a} e^{-\eta}\left(\frac{1}{2 \pi i} \int_{c^{\prime}-i \infty}^{c^{\prime}+i \infty} \frac{e^{t \xi-\frac{k \eta}{\xi}}}{\xi} d \xi\right) d \eta
$$

the value of the inner integral is $J_{0}(2 \sqrt{k t \eta})[7,8]$ so that

$$
f(t)=e^{-k t} \int_{0}^{a} e^{-\eta} J_{0}(2 \sqrt{k t \eta}) d \eta
$$

using part three of (1) and theorem of Titchmarsh [8] leads to

$$
\left.g(t)=e^{-k t} \int_{0}^{\infty} \int_{0}^{a} e^{-u} J_{0}(2 \sqrt{k t u})\left(\int_{0}^{\infty} e^{-t r-\eta r^{v} \cos \pi v} \sin \left(\eta r^{v} \sin \pi . v\right) d r\right) d u\right) d \eta
$$

## 2 Main Results

In this section, the authors considered certain non-homogeneous time fractional heat equations which is a generalization of the problem of a viscous ring damper for a freely processing satellite studied by P.G.Bahuta [8]. In this study, only the Laplace transformation is considered as it is easily understood and being popular among engineers and scientists. The basic goal of this work has been to implement the Laplace transform method for studying the above mentioned problem. The goal has been achieved by formally deriving the exact analytical solution.

### 2.1 Non homogeneous time fractional heat equation

Problem 1. Let us solve the following partial fractional differential equation

$$
\begin{gather*}
D_{t}^{C, \alpha} u=\frac{1}{r} \frac{\partial}{\partial r}\left(r \frac{\partial u}{\partial r}\right)-\lambda u+\mu,  \tag{16}\\
\lambda, \mu>0,0 \leq r \leq a, u(r, 0)=\beta, u(a, t)=\exp -\omega^{2} t, \\
\lim _{r->0}|u(r, t)| \leq M .
\end{gather*}
$$

Solution 2. Solution: In order to obtain the solution of the fractional heat equation, the Laplace transform is applied to PDE and boundary conditions to obtain

$$
\begin{equation*}
\left.s^{\alpha} U(r, s)-\beta s^{\alpha-1}=\frac{1}{r}\left(U_{r}(r, s)+r U_{r r}(r, s)\right)-\lambda U r, s\right)+\frac{\mu}{s} \tag{17}
\end{equation*}
$$

after simplifying, we get the following

$$
\begin{equation*}
U_{r r}(r, s)+\frac{1}{r} U_{r}(r, s)-\left(s^{\alpha}+\lambda\right) U(r, s)=-\left(\beta s^{\alpha-1}+\frac{\mu}{s}\right) \tag{18}
\end{equation*}
$$

Hence, the homogeneous equation is

$$
\begin{equation*}
\left[U_{r r}(r, s)+\frac{1}{r} U_{r}(r, s)-\left(s^{\alpha}+\lambda\right) U(r, s)=0\right. \tag{19}
\end{equation*}
$$

The equation (19) is modified Bessel differential equation of order zero. The general solution is

$$
\begin{equation*}
U_{p}(r, s)=A I_{0}\left(r \sqrt{s^{\alpha}+\lambda}\right)+B K_{0}\left(r \sqrt{s^{\alpha}+\lambda}\right) . \tag{20}
\end{equation*}
$$

The function $K_{0}$ for some $r$, is unbounded. However, $U_{p}(r, s)$ is a bounded function. Therefore $B=0$ and (20) read

$$
\begin{equation*}
U_{p}(r, s)=A I_{0}\left(r \sqrt{s^{\alpha}+\lambda}\right) . \tag{21}
\end{equation*}
$$

Now, in order to obtain the solution of nonhomogeneous equation (16), we suppose that $U_{c}(r, s)=\gamma$ is the solution to nonhomogeneous equation.
Then we get the following

$$
\begin{equation*}
U_{c}(r, s)=\frac{s^{\alpha-1} \beta+\frac{\mu}{s}}{s^{\alpha}+\lambda}=\gamma . \tag{22}
\end{equation*}
$$

From relations (21) and (22), we obtain

$$
\begin{equation*}
U(r, s)=U_{p}(r, s)+U_{c}(r, s)=A I_{0}\left(r \sqrt{s^{\alpha}+\lambda}\right)+\frac{s^{\alpha-1} \beta+\frac{\mu}{s}}{s^{\alpha}+\lambda} . \tag{23}
\end{equation*}
$$

In order to obtain constant A , in relation (23), we use boundary condition to get

$$
\begin{equation*}
U(a, s)=\frac{1}{s+\omega^{2}}=A I_{0}\left(a \sqrt{s^{\alpha}+\lambda}\right)+\frac{s^{\alpha-1} \beta+\frac{\mu}{s}}{s^{\alpha}+\lambda} \tag{24}
\end{equation*}
$$

from the above relation, we get the value of constant A as below

$$
\begin{equation*}
A=\left(\frac{1}{s+\omega^{2}}-\frac{s^{\alpha-1} \beta+\frac{\mu}{s}}{s^{\alpha}+\lambda}\right) \frac{1}{I_{0}\left(a \sqrt{s^{\alpha}+\lambda}\right)} . \tag{25}
\end{equation*}
$$

By substitution of the value of A in relation (23), we obtain the general solution to non - homogeneous equation in the following form

$$
\begin{equation*}
U(r, s)=\left(\frac{1}{s+\omega^{2}}-\frac{s^{\alpha-1} \beta+\frac{\mu}{s}}{s^{\alpha}+\lambda}\right) \frac{I_{0}\left(r \sqrt{s^{\alpha}+\lambda}\right)}{I_{0}\left(a \sqrt{s^{\alpha}+\lambda}\right)}+\frac{s^{\alpha-1} \beta+\frac{\mu}{s}}{s^{\alpha}+\lambda} . \tag{26}
\end{equation*}
$$

In case $\alpha=1$, we have

$$
\begin{equation*}
U(r, s)=\left(\frac{1}{s+\omega^{2}}-\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}+\frac{\beta+\frac{\mu}{s}}{s+\lambda} . \tag{27}
\end{equation*}
$$

At this stage, the Bromwich's integral is utilized to invert $U(r, s)$ as follows.

$$
\begin{align*}
u(r, t) & =\frac{1}{2 \pi i} \int_{c-i \infty}^{c+i \infty}\left(\left(\frac{1}{s+\omega^{2}}-\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}+\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) e^{t s} d s=. .  \tag{28}\\
\ldots & =\sum_{k}\left(\operatorname{Res}\left[\left(\left(\frac{1}{s+\omega^{2}}-\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}+\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) e^{t s}\right], s=s_{k},\right) .
\end{align*}
$$

The singularities of the integrand are $s=0, s=-\lambda, s=-\omega^{2}, s=-\frac{k_{n}^{2}}{a^{2}}, n=1,2,3, \ldots$, then the residues at the singularities of (28) are as follows

1. At $s=0$, we have

$$
b_{-1}^{1}=\lim _{s->0}\left(\left(\frac{1}{s+\omega^{2}}-\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}+\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) s e^{t s}=\frac{\mu}{\lambda}\left(1-\frac{I_{0}(r \sqrt{\lambda})}{I_{0}(a \sqrt{\lambda}}\right) .
$$

2. At $s=-\lambda$, we have

$$
b_{-1}^{2}=\lim _{s->-\lambda}\left(\left(\frac{1}{s+\omega^{2}}-\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}+\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right)(s+\lambda) e^{t s}=0
$$

3. At $s=-\omega^{2}$, we have

$$
b_{-1}^{3}=\lim _{s->-\omega^{2}}\left(\left(\frac{1}{s+\omega^{2}}-\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}+\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right)\left(s+\omega^{2}\right) e^{t s}=\frac{I_{0}\left(r \sqrt{\lambda-\omega^{2}}\right)}{I_{0}\left(a \sqrt{\lambda-\omega^{2}}\right)} e^{-\omega^{2} t}
$$

4. If $k_{1}, k_{2}, k_{3}, \ldots$. are the roots of the function $J_{0}(\xi)$, then $J_{0}\left(k_{n}\right)=0$ for $n=1,2,3, \ldots$ Using the fact that $I_{0}(\xi)=J_{0}(i \xi)$, one gets $\xi=-i k_{n}$, the roots of $I_{0}(a \sqrt{s+\lambda})$, are $s_{n}=-\left(\lambda+\frac{k_{n}^{2}}{a^{2}}\right)$. Finally, the residues at $s_{n}=-\left(\lambda+\frac{k_{n}^{2}}{a^{2}}\right)$, are At $s=-\left(\lambda+\frac{k_{n}^{2}}{a^{2}}\right)$, we have

$$
\begin{aligned}
b_{-1}^{4} & =\lim _{s->-\left(\lambda+\frac{k_{n}^{2}}{a^{2}}\right)}\left(\left(\frac{1}{s+\omega^{2}}-\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right) \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}+\frac{\beta+\frac{\mu}{s}}{s+\lambda}\right)(s+\lambda) e^{t s}=\ldots \\
\ldots & =e^{-\left(\frac{k_{n}^{2}}{a^{2}}-\lambda\right)} \frac{J_{0}\left(\frac{r}{a} k_{n}\right)\left(\frac{k_{n}^{2}}{a^{2}}\right)\left(\frac{k_{n}^{2}}{a^{2}}-\lambda\right)+\mu\left(\lambda+\frac{k_{n}^{2}}{a^{2}}-\omega^{2}\right)-\beta\left(\lambda+\frac{k_{n}^{2}}{a^{2}}-\omega^{2}\right)\left(\frac{k_{n}^{2}}{a^{2}}\right)}{J_{1}\left(k_{n}\right) k_{n}\left(\lambda+\frac{k_{n}^{2}}{a^{2}}\right)\left(\lambda+\frac{k_{n}^{2}}{a^{2}}-\omega^{2}\right)}
\end{aligned}
$$

Let us suppose that $\lambda=\mu=0$ and $\beta=1$. Hence, $u(r, t)$ is in the following form

$$
\begin{equation*}
u(r, t)=e^{-\omega^{2} t} \frac{J_{0}(\omega r)}{J_{1}(\omega a)}+2 a^{2} \sum_{k} \frac{e^{-\left(\frac{k_{n}^{2}}{a^{2}}\right)} J_{0}\left(\left(\frac{r}{a}\right) k_{n}\right)}{k_{n}\left(a^{2}-\frac{k_{n}^{2}}{\omega^{2}}\right) J_{1}\left(k_{n}\right)} \tag{29}
\end{equation*}
$$

In case $\alpha=0.5$, (semi - derivative) we have

$$
\begin{equation*}
U(r, s)=\left(\frac{1}{s+\omega^{2}}-\frac{\frac{\beta}{\sqrt{s}}+\frac{\mu}{s}}{\sqrt{s}+\lambda}\right) \frac{I_{0}(r \sqrt{\sqrt{s}+\lambda})}{I_{0}(a \sqrt{\sqrt{s}+\lambda})}+\frac{\frac{\beta}{\sqrt{s}}+\frac{\mu}{s}}{\sqrt{s}+\lambda} \tag{30}
\end{equation*}
$$

the above relation can be re-writen as below

$$
\begin{equation*}
U(r, s)=\frac{\beta \sqrt{s}+\mu}{s(\sqrt{s}+\lambda)}+\frac{1}{s+\omega^{2}} \frac{I_{0}(r \sqrt{\sqrt{s}+\lambda})}{I_{0}(a \sqrt{\sqrt{s}+\lambda})}-\frac{\beta \sqrt{s}+\mu}{s(\sqrt{s}+\lambda)} \frac{I_{0}(r \sqrt{\sqrt{s}+\lambda})}{I_{0}(a \sqrt{\sqrt{s}+\lambda})} \tag{31}
\end{equation*}
$$

At this point, we find inversion of the above relation term wise, so that

$$
\begin{align*}
& u(r, t)=\mathscr{L}^{-1}\left(\frac{\beta}{\sqrt{s}(\sqrt{s}+\lambda)}\right)+\mathscr{L}^{-1}\left(\frac{\mu}{s(\sqrt{s}+\lambda)}\right)+\mathscr{L}^{-1}\left(\frac{1}{s+\omega^{2}}\right) * \mathscr{L}^{-1}\left(\frac{I_{0}(r \sqrt{\sqrt{s}+\lambda})}{I_{0}(a \sqrt{\sqrt{s}+\lambda})}\right)-\ldots  \tag{32}\\
& \ldots-\mathscr{L}^{-1}\left(\frac{\beta \sqrt{s}+\mu}{s(\sqrt{s}+\lambda)} \cdot \frac{I_{0}(r \sqrt{\sqrt{s}+\lambda})}{I_{0}(a \sqrt{\sqrt{s}+\lambda})}\right)
\end{align*}
$$

Let us introduce the following

$$
\begin{equation*}
G(r, \sqrt{s})=\left(\frac{\beta \sqrt{s}+\mu}{(\sqrt{s}+\lambda)} \cdot \frac{I_{0}(r \sqrt{\sqrt{s}+\lambda})}{I_{0}(a \sqrt{\sqrt{s}+\lambda})}\right) \tag{33}
\end{equation*}
$$

then

$$
\begin{equation*}
G(r, s)=\left(\frac{\beta s+\mu}{(s+\lambda)} \cdot \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}\right) \tag{34}
\end{equation*}
$$

and

$$
\begin{equation*}
g(r, t)=\mathscr{L}^{-1}[G(r, s)] . \tag{35}
\end{equation*}
$$

At this point, in order to invert (33), we may use the tables of inverse Laplace -transforms or part four of (1) to get

$$
v(r, t)=\mathscr{L}^{-1}[G(r, \sqrt{s})]=\int_{0}^{+\infty} \frac{\eta e^{-\frac{\eta^{2}}{4 t}}}{2 t \sqrt{\pi t}} g(r, \eta) d \eta
$$

in order to invert (34), we need to evaluate the residues at all the singularties. The singularties of (34) are as follows

1. A simple pole at $s=-\lambda$.
2. If $k_{1}, k_{2}, \ldots k_{n}, .$. are the roots of the function $J_{0}(x)$, thus for $J_{0}\left(k_{n}\right)=0$ and $I_{0}(x)=J_{0}(i x)$ therefore, $i k_{n}$ are the roots of $I_{0}(x)$. Hence, the roots of $I_{0}(a \sqrt{s+\lambda})$ are $s_{n}=-\frac{a^{2} \lambda+k_{n}^{2}}{a^{2}}$.
At this point, we use the Bromwich's integral to invert (35) the residue at simple pole $s=-\lambda$ is (35) the residue at simple pole $s=-\lambda$ is
(i)

$$
b_{-1}^{1}=\lim _{s->-\lambda}(s+\lambda)\left(\frac{\beta s+\mu}{(s+\lambda)} \cdot \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}\right) e^{s t}=0
$$

the residue at poles $s=-\frac{\lambda a^{2}+k_{n}^{2}}{a^{2}}$ is,
(ii)

$$
b_{-1}^{2}=\lim _{s->-\frac{\lambda a^{2}+k_{n}^{2}}{a^{2}}}\left(s+\frac{\lambda a^{2}+k_{n}^{2}}{a^{2}}\right)\left(\frac{\beta s+\mu}{(s+\lambda)} \cdot \frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}\right) e^{s t},
$$

the above limit can be written as follows

$$
b_{-1}^{2}=\lim _{s->-\frac{\lambda a^{2}+k_{n}^{2}}{a^{2}}} \frac{(\beta s+\mu)\left(I_{0}(r \sqrt{s+\lambda})\right.}{(s+\lambda)} e^{s t} \frac{1}{\left.\frac{I_{0}(a \sqrt{s+\lambda})-I_{0}\left(i k_{n}\right)}{s-\left(-\frac{\lambda a^{2}+k_{n}^{2}}{a^{2}}\right)}\right) .}
$$

By using the relations, $I_{0}(x)=J_{0}(i x)$ and $J_{0}^{\prime}=J_{1}$, we obtain

$$
\left(I_{0}(a \sqrt{s+\lambda})\right)^{\prime}=\left(J_{0}(i a \sqrt{s+\lambda})\right)^{\prime}=-\frac{a i}{2 \sqrt{s+\lambda}}\left(J_{1}(i a \sqrt{s+\lambda}) .\right.
$$

At this stage, let us take the limit as $s$ tends to $s_{n}=-\frac{a^{2} \lambda+k_{n}}{a^{2}}$, we arrive at

$$
\lim _{s->s_{n}}\left(I_{0}(a \sqrt{s+\lambda})\right)^{\prime}=\frac{a^{2}}{2 k_{n}} J_{1}\left(k_{n}\right)
$$

Finally, we may find the residue $b_{-1}^{2}$ as below

$$
b_{-1}^{2}=2 e^{-\left(\frac{a^{2} \lambda+k_{n}}{a^{2}}\right) t}\left(\mu-\beta \lambda-\frac{\beta k_{n}^{2}}{a^{2}}\right) \frac{J_{0}\left(\frac{r k_{n}}{a}\right)}{J_{1}\left(k_{n}\right)},
$$

by following the same procedure, we may find $b_{-1}^{3}$ as below

$$
\mathscr{L}^{-1}\left(\frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}\right)=b_{-1}^{3}=\lim _{s->-\frac{\lambda a^{2}+k_{n}^{2}}{a^{2}}}\left(s+\frac{\lambda a^{2}+k_{n}^{2}}{a^{2}}\right)\left(\frac{I_{0}(r \sqrt{s+\lambda})}{I_{0}(a \sqrt{s+\lambda})}\right) e^{s t},
$$

after simplifying we get

$$
b_{-1}^{3}=2 e^{-\left(\frac{a^{2} \lambda+k_{n}}{a^{2}}\right) t}\left(\mu-\beta \lambda-\frac{\beta k_{n}^{2}}{a^{2}}\right) \frac{J_{0}\left(\frac{r k_{n}}{a}\right)}{\left(\frac{a^{2}}{2 k_{n}}\right) J_{1}\left(k_{n}\right)}
$$

After substitution of the value for each term in relation (32), we get the formal solution as follows

$$
\begin{gathered}
u(r, t)=\beta e^{\lambda^{2} t} \operatorname{Erfc}(\lambda \sqrt{t})+\frac{\mu}{\sqrt{\pi}} \int_{0}^{t} \frac{e^{\lambda^{2} \eta} \operatorname{Erfc}(\lambda \sqrt{\eta})}{\sqrt{t-\eta}} d \eta+ \\
\ldots .+\sum_{n=1}^{n=+\infty} e^{-\omega^{2} t} * 2 e^{-\left(\frac{a^{2} \lambda+k_{n}}{a^{2}}\right) t} \frac{J_{0}\left(\frac{r k_{n}}{a}\right)}{\left(\frac{a^{2}}{2 k_{n}}\right) J_{1}\left(k_{n}\right)}- \\
\sum_{n=1}^{n=+\infty} 2 e^{-\left(\frac{a^{2} \lambda+k_{n}}{a^{2}}\right) t}\left(\mu-\beta \lambda-\frac{\beta k_{n}^{2}}{a^{2}}\right) \frac{J_{0}\left(\frac{r k_{n}}{a}\right)}{J_{1}\left(k_{n}\right)}\left(H(t) * \frac{1}{t \sqrt{\pi t}} \int_{0}^{\infty} \xi e^{-\frac{\xi^{2}}{4 t}-\frac{\left(k_{n}^{2}+a^{2} \lambda\right) \xi}{a^{2}}}\right) d \xi .
\end{gathered}
$$

In the above relation * is convolution for the Laplace transform and $H($.$) , stands for the Heaviside unit step function.$

## 3 Conclusions

The main purpose of this work is to develop a method for finding an exact analytic solution of the time fractional heat equation. In this work, the author considered the time fractional heat equation (Time fractional in the Caputo sense). Many linear boundary value and initial value problems in applied mathematics, mathematical physics, and engineering science can be effectively solved by the use of the Fourier transform, the Laplace transform, the Fourier cosine/sine transform. The Fourier and Laplace type integral transform are wonderful alternative methods for solving different types of PDEs of fractional order. There are a lot of applications of PFDEs in the field of Visco elasticity as well.The paper is devoted to study applications of one dimensional Laplace transforms in details. One dimensional Laplace transforms provides a powerful method for analyzing linear systems. The transform method introduces a significant improvement in this field over existing techniques. We hope that it will also benefit many researchers in the disciplines of applied mathematics, mathematical physics and engineering.

## 4 Acknowledgments

The author would like to thank the referee/s and editor/s for careful and thoughtful readings of the manuscript which helped to improve the presentation of the results.

## References

[1] A. Aghili, B. Salkhordeh Moghaddam. Laplace transform pairs of n-dimensions and a wave equation. Intern. Math. Journal, Vol. 5, (2004), no.4, 377-382.
[2] A. Aghili, B. Salkhordeh Moghaddam. Multi-dimensional Laplace transform and systems of partial differential equations. Intern. Math.Journal, Vol.1, (2006), no.6, 21-24
[3] A. Aghili, B. Salkhordeh Moghaddam. Laplace transform pairs of $n$-dimensions and second order linear differential equations with constant coefficients. Annales Mathematicae et informaticae, 35 (2008), 3-10.
[4] T.M. Atanackovic, B. Stankovic. Dynamics of a visco-elastic rod of Fractional derivative type, Z. Angew. Math. Mech., 82(6), (2002), 377-386.
[5] T. M. Atanackovic, B. Stankovic. On a system of differential equations with fractional derivatives arising in rod theory. Journal of Physics A: Mathematical and General, 37, (2004), No. 4, 1241-1250
[6] R. S. Dahiya, M. Vinayagamoorthy. Laplace transfom pairs of n-dimensions and heat conduction problem. Math. Comput. Modelling vol.13.(1999), No.10, 35-50.
[7] V.A. Ditkin, A.P.Prudnikov, Calcul operationnel, traduction francaise edition Mir (1979).
[8] D. G. Duffy. Transform methods for solving partial differential equations. Chapman Hall-CRC, (2004).
[9] A. A. Kilbas, H.M. Srivastava, J. J.Trujillo, Theory and applications of fractional differential equations, North Holand Mathematics studies, 204, Elsevier Science Publishers ,Amesterdam, Heidelberg and New York, (2006).
[10] I. Podlubny. Fractional differential equations, Academic Press, San Diego, CA,(1999).
[11] G. E. Roberts, H. Kaufman, Table of Laplace transforms, Philadelphia; W.B.Saunders Co. (1966).
[12] W. Schneider, W. Wyss, Fractional diffusion and wave equations. J. Math. Phys.30, (1989),134-144.
[13] B. A. Stankovic, system of partial differential equations with fractional derivatives. Math.Vesnik, 3-4(54), (2002), 187-194.
[14] M. L.Wang, J. L. Zhang, X. Z. Li, The (G/G)-expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics, J. Physics Letters A, 372, (2008), 417-423.
[15] W. Wyss, The fractional diffusion equation. J. Math. Phys., 27(11), (1986), 2782-2785.


[^0]:    * Corresponding author e-mail: armanaghili@yahoo.com, arman.aghili @gmail.com

